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OFEN=INE22 & 22Xz M
285,000& = 23| 570
02 =224l 4,480 4,280 200
OSXRX 2% MX 2z 2HeD
, 1209+ 4,000% 4,480
03 A2 Z Hl 5,000 5,000 0
O FAl CEOEE 2 E 3 5,000,000& = 13l 5,000




2 IYE
PRSI R =
Sl NEF ! (el:de)
- o
HEAY - B2 %Eﬁ HR=2
203 R = 5,000 5,000 0
03 A 5,000 5,000 0
5,000,000& 5,000
207 20,000 0 20,000
01 20,000 0 20,000
EXXNE MU A 24
20,000,000 20,000
2HWNE 2 88,000 75,195 12,805
HFEA 88,000 75,195 12,805
Moz 88,000 75,195 12,805
201 gEt2A | 36,500 23,695 12,805
01 AP 22| H| 9,200 9,395 A 195
O=ZHMLEBANYE =& 3,000
o9z 60,000& * 100 = 23] 1,200
os49= 300,000& * 2% * 33| 1,800
OB 4 U 87 2,600
Os 49t HE 70,000& = 200H 1,400
O3l 100,000 = 1204 1,200
O=ZHUEE AxZ
600,0009 * 68 * 1H¥ 3,600
02 332%H| 14,300 14,300 0
OANZFR =2 E§=2(o3H])
12,500,000& 12,500
202, 282
300,000 * 68 » 1H 1,800
03 13,000 0 13,000
Qmpol) =&
10,000,000& 10,000
Al HStE235 222 F
3,000,000& 3,000
202 044l 20,000 20,000 0
03 =22 L 20| 20,000 20,000 0
OHFA Z2¥ RALRDE AYET
20,000,000 20,000
203 €2 F=&d| 6,000 6,000 0
03 Al ZH =X AR = XH| 6,000 6,000 0
O=ZHS4, NyHP =& 6,000,000& 6,000
301 et A= 20,500 20,500 0
07 2Bl == 0 H| 15,000 15,000 0
O=ZMNMUFEZA 20 =& 15,000,000 15,000
09 #HAIAHIXI& 2 5,500 5,500 0




AN JIHEXX

g FMLFE 2

rics

&

2 FHRIAS (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O2A=0l59 Y3 24 5,500
O=0s2 HSAL &Hl XS
20,0003 = 50 * 53| 5,000
OA=20SD NS AA 2t 3
5,000& = 50 * 23| 500
406 J|EFAI20I A 5,000 5,000 0
01 JIEFRHE201 N 5,000 5,000 0
O=HMuUEBEEA H=HHA =4 AUNESS
5,000,000& = 10H 24 5,000
=ZJ|8t =i 650,000 607,650 42,350
=HSa 2t 650,000 607,650 42,350
ZHSA SUHOIY alAXE 0HAE X&) 650,000 607,650 42,350
307 glz2tol & 335,000 392,650 A 57,650
02 It M AHE X 175,000 237,650 A 62,650
O+ HAXNATHAA 2= XA AS (104
Ab) 45,000,000& 45,000
Os2JIY ¥EE HAAME W= X2 A (8
Ab) 80,000,000& 80,000
O+&J|g oi2ctolads AE XA AL (15
N AF) 50,000,000& 50,000
05 RIZHRI & 3 160,000 155,000 5,000
OHASAAIRA(R8HAI) 24 160,000,000 160,000
308 XXIEtH S0l A 315,000 215,000 100,000
N 3IN2SUHUS3AEAE A 315,000 215,000 100,000
O#ZRATE X2 A (2001 AF)
40,000,000& 40,000
O ASES XA (1430 AL)
75,000,000& 75,000
O+=Z0|e olA2F401 X3 AL (18I0 AH)
50,000,000& 50,000
OO0t +=&4E3 L SXSHAL (5IHAL)
50,000, 000& 50,000
O2=ZJ| 2A4AFAIZ LA XA AL (10
AH) 50,000,000& 50,000
OKOTRA =Z0HHE MBIA XI& AL (100 AL)
50,000,000& 50,000
HY2AZH (I L E XX 2 D) 50,960 44,362 6,598
ol 2 gl 7,886 7,806 80
ol 24| 7,886 7,806 80
101 @14 dl 7,886 7,806 80
02 JIEt A2 = 7,886 7,806 80
OsSHIXNE £ 7,886




R AR PN PN}
& HHR2YGHOILGENXA D)
chel: ol 2y SRR
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SNEEEEET
10,9523 = 2H » 30A| 2t 7,886
Jl= &l 43,074 36,556 6,518
Jl=dl 43,074 36,556 6,518
201 Let24d] 19,074 14,836 4,238
01 At 22l 19,074 14,836 4,238
OJlegesd 233l 450,000 7,650
o=sgd(OIE2dl)
,000& » 178 » 7Y 11,424
202 O4dl 20,400 18,720 1,680
01 = LH 4 1l 20,400 18,720 1,680
O=LH ™ HI 20,000& = 17Y = 5« 20,400
203 YR =2t 3,600 3,000 600
04 EASIYRFLH| 3,600 3,000 600
©J1&EZHI (20210l ct) 300,000 3,600
HWREs(ELIIHE4013) 7,500,000 8,000,000 500,000
HEHHKE 7,500,000 8,000,000 500,000
LHEHeHXI & 7,500,000 8,000,000 A 500,000
702 J1S¥ES 7,500,000 8,000,000 A 500,000
01 JI3d&E= 7,500,000 8,000,000 A500,000
oOsxJIgELlls d&E= 7,500,000, 000& 7,500,000




N & o & AF & H Al A
20229 &= = 0lat LB &
2AM: N
Za: YK &
Selr XA SELA (Sl & &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
N & ot 2,568,989 2,825,718 A 256,729
= 390,657
Al 2,178,332
ME X 2,472,701 2,722,119 A 249,418
= 390,657
Al 2,082,044
KA SE LA 1,866,743 1,993,474 A 126,731
= 390,657
Al 1,476,086
MBS Al 537,268 676,541 A 139,273
101 @124l 17,080 16,244 836
4 JI2ZtHZ22 s+ 17,080 16,244 836
OMAXLASAH & =20
73,280& * 7H * 30¢ 15,389
OAMABE= 1,691
O=H3IRES3 15,388,800& * 4.5% 693
O30HLEE 15,388,800& * 3.43% 528
OFWILEER 530,000& = 11.52% 62
CLESE=RE= 15,388,800& * 1.65% 254
Ot ELEE = 15,388,800& * 1.0% 154
201 LBH2d| 153,240 147,377 5,863
01 At 22l 41,212 41,423 A1
OXEAN =222 M= 80& * 33,2500H 2,660
OXEIIE HE+=2Z(ARS)
80& * 4,750 » 12& 4,560
OFIIE NN BHAUS A
1,000& = 142%H * 63l 852
OMAXLASH AIME 29 2,240
OXMZEHI(BFH, Z28H ) 2
80,000& = 150H 1,200
O=8UHIE Xt 400,000 = 2CH 800
O g% 50,000& * 304 150
Os:8 89 tid 30,0002 302 90
O3JIe NgM &2 i M 2,916
Ot HXICH 33,000& » 1208 2 396
Os2 tid 30,000& * 12044 * 73] 2,520
OAMUWHAE S8 XM &8 21,384
Ol A & 04| 88,000& = 30CH = 63l 15,840
oA=& HMEH| 22,0003 = 3004 63l 3,960
OgEMEH=== 15,840,000& * 10% 1,584
OAIM dF el =% 100,000& * 5% 500
OOtSHSAL &2 &E==2 100,000& * 203 2,000




M N
M WEXEH

Selr XA SELA (&)
2 S 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXNLNAAARSE =Y
100,000& = 5% « 53] 2,500
OJIRHARIAS =% 100,000& * 4H « 43| 1,600
02 2324l 112,028 105,954 6,074
OJMAAHH SAHEL =2
80& = 68,5004 » 12& 65,760
O HEER SMS ==2
173 = 7,500 » 12& 1,530
OMY S8 ARSHRAIAE JRX 2l
4,551,000& = 43| 18,204
O JH& A EHA F A2l
2,342,500& * 43| 9,370
OXIZ Al ARSAIAE! ME3|Hd ALE Z(PRI)
132,000 * 43l& « 128 6,336
OXZAN M+ S Rel=4I|l FXNE2=H|
2,724,000& * 22I 5,448
O=NUHEY HE3H AAEE L FXEHI(
ANMEH 29) 5,380, OOOOJ 5,380
308 XXM SOIA 91,843 87,826 4,017
13 2SoHetE & X2 E A I 91,843 87,826 4,017
OXNENEESALY 87,731
OEFENLMEEANAE 59,434,000 59,434
ORIBA(SERLA) 25,955,000 25,955
OMMSSAAE 2,342,000 2,342
OXHC XNLHMBEAAE 29 | E=H
4,112,000& 4,112
403 MtXISHH S =0l & 209,105 315,094 A 105,989
02 S 2S00 CHE A= E 2 & AL H 209,105 315,094 A 105,989
OXMOU XNTMEEAAY 2=
209, 105,000& 209,105
405 XHoHF S HI 66,000 110,000 A 44,000
01 AL EZFH S 66,000 110,000 A 44,000
ONYN MO+ S8 2ol4e)l
22,000,000& =« 3CH 66,000
dAYNT KU 52,600 52,470 130
201 £B-2dH| 2,600 2,470 130
01 At 22l 2,600 2,470 130
OXEAN SALHS 4l 1,600& * 1,0000H 1,600
OXZAN daEAA ZAHH M2
100,000& * 100K 1,000
301 LEXZ 50,000 50,000 0
12 JIEE 4= 50,000 50,000 0
OMAN & SAEAMIT BEFE 4352
50,000& = 1,000H 50,000




CNE D
P MEXA
DA A SEA

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
NEHR Az 31,030 25,230 5,800
201 £B-2d| 28,030 22,230 5,800
01 At 22l 28,030 22,230 5,800
OXEA 8rE 7¢ 50,000& = 145& 7,250
OXNYAH SHLHA HME(1S)
3,000& = 1,110& 3,330
OXNYAM SHLHMR(HX) ME(S)
7,000& = 150& 1,050
OXIZA oH&ed 2 100,000& » 50& 5,000
OXNZNEEL ESUE 11,400, 000& 11,400
203 R =& 3,000 3,000 0
03 A Z=XH R =AY 3,000 3,000 0
OXNLNE2E g2 3,000,000& 3,000
N =EDH T AL 780,696 764,126 16,570
101 14l 219,310 215,240 4,070
4 JI2ZtHZ22HEE = 219,310 215,240 4,070
OME =& EHI AL LAAGARY
78,420% * 209 * 1262 197,619
OAMABE= 21,691
O=H3RES3 197,618,400& = 4.5% 8,893
O30HLEE 197,618,400& * 3.43% 6,779
OFJIRAEE= 6,779,000& = 11.52% 781
CLEEE=ERE= 197,618,400& * 1.65% 3,261
Ol EAEE =
197,618,400& * 1.0000% 1,977
201 Let24d] 555,786 543,286 12,500
01 At 22l 504,830 496,580 8,250
OHE+==+8 6,600& = 66,100= 436,260
OO0ISAl E2SFEIA 4F=R2 4,300
OUEx=4+2 (0t E) 120,000& * 30= 3,600
OBz (A, CHAIN)
70,000& * 10= 700
ORSHNABAARE 25
100,000& = 11&¥ * 53 5,500
OXNLNAAARE =L
100,000& = 13& » 12 1,300
OMEFeINH AHENS HE
105& = 74,000= 7,770
OMg =&l 8&8cH &
10,000& = 1,900% =* 23| 38,000
OMNE=EIIA MAZ M MZ
20,000& » 95% 1,900




M N

M WEXEH

e XA SZ A (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
CEEEEPEN-EESENAE
220,000 « 1004 2,200
OMNE DA HJL2=AZ HE(FREY)
1,900,000& * 402 & 7,600
02 E2=2=2%H| 50,956 46,706 4,250
OMBFEIIA AHENL LU
400€ = 85,0004 34,000
OMNE FeIIH 2AZAIAE SIES
4,239,000& = 43| 16,956
405 XHAHF S HI 5,600 5,600 0
01 AL 2 ZF S H| 5,600 5,600 0
O&FFH 1,400,000 = ALY 5,600
JHEFEIIAZAI(Z2D) 390,657 375,342 15,315
= 390,657
101 2121 H| 378,273 359,694 18,579
= 378,273
04 JI2ZtHIZ22NEE S 378,273 359,694 18,579
OME TEH EAT A LAAEQE
78,420 « 339 x 126 326,071
= 326,071
OA3ZIEE = 52,202,000 52,202
= 52,202
201 et 9| 9,504 8,448 1,056
= 9,504
01 AFR 2t 2| bl 9,504 8,448 1,056
OMEFLARER S|
8,0008 * 9% x 11 x 128 9,504
= 9,504
202 044l 2,880 7,200 A4, 320
= 2,880
01 2L Y| 2,880 7,200 N4,320
OME FEHIIAHAXZAAME SZ0{H|
20,000 * 4% x 32 x 12&€ 2,880
= 2,880
NS Z A &LAl 3,375 2,660 715
201 et 3,375 2,660 715
01 AP 2t 2] H| 3,375 2,660 715
OXEAH MHEZAF MAA 21N 50008 * 190 950
O2ZALH Holthar XA CtLHE H &
100& = 14,2500H 1,425
OX M SAAHYEl 2ZFAFIH A &
100,000& = H5Jf & ol 500
OBINMBEA CHAaRO 88 X2AMASHASA
3 =Y 100,000 = 5% 500




2N
X ZH -
L= B

el

MIE
HE X
KYA SEaA

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
st=XEAHARE A 71,117 97,105 A 25,088
306 22 71,117 97,105 A 25,988
01 &3 71,117 97,105 A 25,988
Ost=XLAHATRRH &= 71,117,000& 71,117
M2l 22 505,338 621,225 A 115,887
Nel+=g MEgXds £ = 505,338 621,225 A 115,887
201 ¢4l 309,020 262,888 46,132
01 At 22l 172,690 159,588 13,102
OM2A=L DX A I 72,6003 * 67 A 4,865
OM2=e WS 24 12,5008 * 230& 2,875
ONEY S AMEJNE ZHUHE===
4,800,000& = 123 57,600
OUEItE &I KX 22l
16,5004 = 7504 = 123 14,850
OJt&AHE YSHEIA =2
80& = 5,000 » 123 4,800
OMe= MEX dXH=ZLF AL 018
= 4403 * 100,000A 44,000
OMYEDXN ¥ =2 H=
663 = 400,000A 26,400
oOF=&E M= 100& = 54,0000H 5,400
OHASIIES (LR, HH) 242
1,000& * 500 500
ONA=Y EEA &3 1= 11,400,000& 11,400
02 =24l 136,330 103,300 33,030
ORERS 117,250
Og et 4003 = 200,000 80,000
Os7l 2,500 = 14,5008 36,250
osigsz 2,500& » 4008 1,000
OMEXE HSE AIAAEH KX E=H
330,000 * 123 3,960
ONMEXZE HSEHIAX HRE SRS
50,0008 * 12& 600
OFXHSUF AlAE 2K 24|
1,210,000 * 12& 14,520
303 &3 162,000 171,000 A9,000
01 243 162,000 171,000 A9,000
oY% RTBLW 238y
600,000& * 309 18,000
oY HNBRY HAEAZ 15,000
020198 Ol =2 200,000,000& * 5/100 10,000
Q20208 & & 130,000,000& * 3/100 3,900
O202189 &= 110,000,000& * 1/100 1,100




CNE D
P MEXA

DN 2el

= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
OANAUEEHAI NS RE E+EL43 129,000
O2019¢@ Ol& &2 1,650,000,000& * 5/100 82,500
00208 &= 600,000,000& * 3/100 18,000
OIS 600,000,000& * 1/100 6,000
OZEH=ZNH 375,000,000& * 6/100 22,500
308 XXM SO0l A 34,318 34,498 A 180
N 33JN2SUHUe3AH2AE A 34,318 34,498 A 180
OH= NEMA+- F2ANLE 29
34,318,000 34,318
& == 100,620 107,420 6,800
DN DHEHEN HEM=2 & = 100,620 107,420 A 6,800
201 ¢er24| 14,620 14,620 0
01 At 22l 9,640 9,640 0
OYRTSH BH442
600,000& = 104 = 25% 1,500
OMEX H=2xs == (8I&X)
2,000& = 500A 1,000
OB LT =S (NLHNIEEALE)
50& * 600 * 1804 540
OXEFZEANAE MHIA OEZ
550,000& = 123 6,600
02 =224l 4,980 4,980 0
OMExXE st AXAAE JXEZ=H|
415,000& » 123 4,980
303 Z& = 86,000 92,800 A 6,800
01 243 86,000 92,800 A 6,800
OUVNDRH 2T AI 15,000
Q20198 & 01 & =2 160,000,000 = 5/100 8,000
Q20208 & & 170,000,000& * 3/100 5,100
O2021g & 190,000,000& * 1/100 1,900
OANUHEHMSINSRE E=ELa= 71,000
OZ&EXH=H 895,000,000& * 6/100 53,700
Q20198 & 01 &= 316,000,000 * 5/100 15,800
020208 &= 50,000,000% * 3/100 1,500
HY2AZH (ME D) 96,288 103,599 AT,311
A2l 28,794 28,506 288
2| 28,794 28,506 288
101 @144 dl 28,794 28,506 288
02 JIEtE B == 28,794 28,506 288
OAMZEEHUINESRA B 28,794
Oxn2R4Y
8,887& * 9F x 30AI2t + 12& 28,794




2N
X ZH -
L= B

el

MIE
HY2HZH (A
Jl=23tl

SN BA(SA) - MRAY - BES il HImEET
=& Hl 67,494 75,093 AT,599
Jl=dl 67,494 75,093 AT,599
201 Let24d] 30,294 30,813 A519
01 At 22/l 30,294 30,813 A519
OJlegesd ezl 450,000& = 27YH 12,150
OJIEZHl(S&l)
8,000 = 2798 = 74 » 1238 18,144
202 o4dl 32,400 38,880 N 6,480
01 = LH 4 Hi 32,400 38,880 AN 6,480
OJIEZ 20,000 = 27 * 58 * 123 32,400
203 YR =] 4,800 4,800 0
04 EASIYRFLH| 4,800 4,800 0
©J1&2ZHI(302! 0lat) 400,000& = 123 4,800




N = 0l & At & Ml A

20229 &= = 0lat LB &
A 3E2SA
M 21 = Lo - ¥
Sl HEAX A U MEYE HBo CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
2SS4 8,483,223 6,192,846 2,290,377
[ 29,644
Al 8,453,579
A= 2109 u-H 8,430,261 6,132,540 2,297,721
< 29,644
Al 8,400,617
FEAX o E Al 2ot 487,499 469,945 17,554
2aus 2 201,910 173,005 28,905
201 Let24d] 153,110 161,005 AT,895
01 At 22l 148,310 156,205 AT,895
OF=2usdH 29 36,070
OFESUEFE A2 FH| 12,070
- gt 100,000& = 40 « 12 4,800
-EU 220,000& = 8CH = 2K 3,520
-—HEZA 750,000& =« 504 3,750
Ogxt=z 24,000
-SRus 2,000,000& = 12& 24,000
OdEstu= = 10,000& * 2,000 20,000
O3ES U= Z 220,000 * 123 2,640
OFB3WE =
80,000& = 7% = 160 89,600
02 2324l 4,800 4,800 0
OFEBusdH HIIR=s
400,000 * 1A * 128 4,800
307 21201 A 12,000 12,000 0
05 RIZt2IEt = 12,000 12,000 0
OZEusE FAUAAY
1,000,000& * 12& 12,000
405 RHoHE S HI 36,800 0 36,800
01 AL ESHS 36,800 0 36,800
OuW=sE HLHEH WA 36,800
Oz =d 1,400,000 * 25CH 35,000
Ooxeggy 600,000& = 3CH 1,800
FEBOAIAE 2F2e] 195,509 296,940 A 101,431
201 2Bt | 195,509 234,940 ~39,431
01 At 2teltl 4,830 540 4,290
OMeIZ3EEsS =2et2lW=E  4,830,0008 * 13 4,830
02 =224l 190,679 234,400 N43,721
OoldE e T2 A2 2toldA
32,520& = 1,310% 42,602
OSOotIHXI &2 ZT28 A2t 2toldA
32,520& = 1,310% 42,602




A 3E2SA
M 21 = Lo - ¥
S FE2AX oA E MRAYE FEL0 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OLUWPCAIZI0] T2 03 H2F 2lold A
26,500 » 500% 13,250
OBZIIAUHM Z2elAAE X E =4l
742,500 = 103 7,425
OMURHLRE thamels
20,000,000& = 13l 20,000
ONHE BiolefABAI(1H 2tolsA)
352,000& » 60X 21,120
OPCE HIOIHABA (1A 2tol&A)
26,000& = 1,500% 39,000
oFotzelERE(1E 2toldA)
3,000& » 1,560% 4,680
ANsdEs d2F& 90,080 0 90,080
201 £B-2d | 10,080 0 10,080
01 At 22l 10,080 0 10,080
OF=A HE3AAS 29
1,520,000& =* 43| 6,080
OXNsZEEAS ZEHE X8 & LIS
2 =< 4,000,000& 4,000
207 A RO 80,000 0 80,000
01 284 80,000 0 80,000
OXNsZEEAz SgHa =8 80,000,000& 80,000
NEotset 182 F2MHA HSB 2,905,528 2,537,999 367,529
FEHE YR Let2d 202,560 170,632 31,928
201 £B-2dH| 201,560 169,632 31,928
01 At 22l 201,560 169,632 31,928
OSY=EHNIES 28t F2 S/W 2LHI(58 60
5&) 150,000, 000& 150,000
ORQUALZI| LS MHEIA CHHE HE
20,000& = 100& 2,000
OdEX DR L& 100& = 50,0004 5,000
OXZgl 2¥& JIAM 2 2,700
2ot Tl El 220,000& = 504 1,100
OXN&EE Zgd &Y 220,000& = 504 1,100
OZHzZely 943 50,000& = 104 500
OzdZEd 228 JIANM 2L 4,660
oced 500,000& =« 1H 500
O&H 660,000 = 14 660
OEHEHIHNE 1,300,000& * 1Set 1,300
OF MR (2E) 1,200,000& * 14 1,200
OEHAHIAE(2E) 1,000,000& = 10 1,000
OSURE JHAPC S/W told A 44l 37,200
O3E=210 190,000& * 1204 22,800




SN HRSAD
Ha: 210 @2 20O -HF I
S9l: XNHItss DBR FEAMHA A (el @ e)
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
SEEEIES 1200008 * 12004 14,400
203 Y2 =Xt 1,000 1,000 0
03 Al Z T Q@ =T 1,000 1,000 0
OFE2AMHIA S435 Q42X 1,000,008 1,000
HYZBALY 29 UL AL 1,292,958 1,291,367 1,591
201 YErS | 1,125,490 1,085,215 40,275
01 At 2H2l | 21,100 19,000 2,100
OPC 13l0IE 100,0009 * 95CH 9,500
oMNZES PCLIEIl S =7
100,0009 * 95CH 9,500
OZEAMYBRIAAY 00IE 2,100
OMHESIMHA &al0l=
1,700,0008 * 12 1,700
OCAL2HOI &1 & 100,0009 * 42 400
02 ZZ 2l 1,104,390 1,066,215 38,175
OFAAAE KX 2 4H| 930,869
O Mt (44TH) 15,830,0008 * 122 189,960
OMZ R (7T0H) 9,378,008 * 122 112,536
OJIEFE HI (KVM,N/W, 2 0F R H] 84 ! 73CH)
4,459,0002! * 128 53,508
OPHHTAF(40) 1,062,008 * 128 12,624
O 28 &I (40) 550,000 * 128 6,600
O2gZ20(855) 20,137,008 * 128 241,644
OYPNIEE(R2Y, ACE)
11,562,508 * 122 138,750
OnSYRALBRIAAE
6,250,000% * 12 75,000
OB MY ALY 1,775,008 * 122 21,300
ORABESERIALE
1,064,580 * 12 15,175
OFZ AN &I K Al A & 750,000 * 12 9,000
OATEYNTHBAIAEY 571,008 « 122 6,852
OUWEHIISHIAIAEY 444,008 * 128 5,328
OASHYNNSHREALE
533,330% « 128 6,400
OITRHAM2ERI Al A &Y 80,0002 * 128 9,600
OotFlBolAAE 2,084,000 + 128 25,008
OFHA 0l Al A g 132,008 * 12 1,584
OMSHILET 20005 ASE
550,000 * 13 550
ONEHFE KX 24U (18130H)
10,668,0008 * 122 128,016
OHOIMIRIE X 22Ul
1,838,0008 * 12 22,056




fA:E
X FH -
o Tt

el

21C 8= =109 y-EF P&
A&Jtse nEZ d2MHA W3

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OHMUE SH&A 1243 A HXE &
2 1,100,00080 * 1% 1,100
OLAHAL M&HEl OlH(PC,ZRIH S)
21,798,869& * 13l 21,799
308 AHAIEHHSOIA 167,468 162,952 4,516
11 2II2SOICHEZ AR IS A b 167,468 162,952 4,516
O3sJIgr datEH ¥ o=+ |X 2l
126,000,000& * 13l 126,000
OM=Z AMEIAHAZ S 2eltl
6,560,000& = 13l 6,560
O=2LIetAIAE S/W KXl 22l
34,908,000 * 13l 34,908
HEMAZTH SSAHFA 736,870 710,300 26,570
405 THobH S| 736,870 710,300 26,570
01 AR ESFH S 736,870 710,300 26,570
0g2E MAZY WA 572,000
Oz =H 1,400,000 = 350CH 490,000
OZRE (MEESH) 6000008 * 70TH 42,000
OZLUH 400,000& = 100CH 40,000
OBNHIYME 7Y (XUS=YLE)
550,000& =« 2CH 1,100
O2Uet2MAIAE 2AHZCHD0RM) 28 ¢
138,070,000& * 1= 138,070
ORooALZI| 24,000,000& = 1CH 24,000
ORHALZI UWERIT 2 FH
1,700,000& * 1CH 1,700
= AMEXR0I0HAEH 2SS 256,900 254,850 2,050
306 93 256,900 254,850 2,050
01 &3 256,900 254,850 2,050
OSSEAMNEXOILNMH 2 2¢3(US)
256,900,000 256,900
AlDIgE ADIE #EAAE 2 200,000 0 200,000
207 RO 200,000 0 200,000
02 ™ AR I 200,000 0 200,000
Ooolag MRAAE D&3 200,000,000 200,000
ANsstaEal oty dpoiad A ALS (HS) 60,000 60,000 0
308 AHAIEHHSOIA 60,000 60,000 0
11 3J2SoHUHSBH4EAE ALS HI 60,000 60,000 0
OGrand ICTHRME XIAAL(HS)
60,000,000 60,000
HOSE 2S™MA 2= 156,240 50,850 105,390
405 THabF S| 156,240 48,780 107,460




EMN: B322SS0
MM 21 A
el XI50t

= 3D -HF P
S8 DER FPAHA

(o
SA BB (SH) - NRAY - B Ol At o %@i HRE2
01 AL 2 ZF S| 156,240 48,780 107,460
OHAX 222 2L EPC(VDI) =4 (6001)
156,240,0008 ~ 11X 156,240
AlBID AEGSE EHOIKXN 29 607,402 614,483 ANT7,081
HFEA QIHUAIAE OHEA 2H 607,402 614,483 ANT7,081
201 et d| 444 118 429,690 14,428
01 AFR 2t 2| H| 19,080 5,000 14,080
OYAIOIE B&EQ= 5,000,000& 5,000
OQHUAEBAALY AHS2IEMAMH €24 01E
1,760,000& = 8X 14,080
02 2=2=24%4| 425,038 424,690 348
oo Zmel2e sl 42 000& * 20 840
OCAMIA(SUE) 2= AI2E2(AMUE)
3,000,000 * 1= 3,000
OGN (MEEY HH) OF ABR
1,100,000& ~ 1= 1,100
©BIZtot0lEl 20101 AIE2
550,000& = 1= 550
OSSL AIE2 250,000 ~ 1= 250
O2XHAIXNAHA Ol
200,000 = BOHA + 12& 12,000
OAl EHOIX S& KX 184,116
OE =HOIXA S 138
5,180,000 = 12 62,160
OMYAZHOIA S 165
4,545,000 = 12€ 54 540
OMYLeIEHOIA S 24
5,618,000 = 12€ 67,416
OZEHOIXN 29 AZTEVNH SAEH| 95,646
OUE EHOIX 29 ATZEY N (DBMS, Webt
oB, Jeus) 2,447 ,000& = 12&€ 29,364
OHIHSHAMAIAY 29 ATEY N (WebtoB,
Jeus) 332,000& ~ 7€ 2,324
OZEHOIAl Jt&s 29 AZTEN
866,0008 ~ 12€ 10,392
OZMHOIX HM &E=24H 255,000 = 128 3,060
OEbook 29 &84 280,5008 ~ 12& 3,366
ONH Botmz ) 90,000& * 12& 1,080
OEZEHOIX A= 2LHE ATZEN
130,000 * 12& 1,560
ONMHIA 28 A5 ZLIHE AZEN
369,000 ~ 12€ 4,428
OZEHOIX A 22 AZEQ N (28)
633,000 ~ 12€ 7,596
OZHOIX EH=2H 363,0008 ~ 12& 4,356




EX: AEsSA
MM 21 8=2 DO u-ExF F2&
SRl AlSIY ASoles EHOIX 29 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OZMHOolIXl DBL =&t 183,000& = 12& 2,196
O gEH 293,000 = 8& 2,344
OSEBotAZANAE 2H ATEQONH(2T)
792,0008 ~ 12& 9,504
OBIZHOHAAE 2H ATEYNH(2T)
825,0008  12& 9,900
OZHOIXR ==HUIIAIAE
348,0008 ~ 12& 4,176
OAZHOIA SIERANH Y9 |SXNE 54| 127,536
OZEHOIX MHlAE 22| A (1604)
3,416,000 ~ 12€ 40,992
OEotEH 2 22l M (50H)
556,000 ~ 12€ 6,672
OMEAXI(7CH) 1,903,000 * 12& 22,836
OUWESZ &H|(11LH) 1,813,000& * 128 21,756
Obtste S 2 otEH| (1204)
2,630,000& = 12& 31,560
OHIOI = BHHAH|(20H) 310,000& = 12& 3,720
301 et M= 900 900 0
12 J|EtE2 A= 900 900 0]
OZHO|IX AIBIEN Ala2 900
OEE2XA O|HE EEHA B4
30,000& = 30 900
405 XHA&HF S HI 162,384 183,893 A 21,509
01 XAt 2 ZF S HI 162,384 183,893 A 21,509
OCEHUWHEEBEAAL OlTet NEF 162,384
OE-Book Al A& 18,359,000 = 1set 18,359
OESM(E2F2tHI) Al AE
100,450,000& * 1set 100,450
Ogz)2M4d NH 16,590,000& = 1CH 16,590
OQuHA AlAE 26,985,000 * 1set 26,985
HEZSA HEEH AEA &H 2 4,363,880 2,429,489 1,934,391
= 29,644
Al 4,334,236
HESAMAAE AN 29 2,196,225 2,269,895 ANT73,670
201 et 9| 1,910,577 1,858,047 52,530
01 AP 2t 2] H| 33,060 33,250 A 190
OHMNZ HSE HEH| 11,500
Ofolg 220t s
1,900& * 2,0000H * 23] 7,600
OfNME HYNGHS T
650 * 3,0000H = 23| 3,900
OENHZ FAELEE ARE 2 15,000
OUTP A0l = 100,000& = 508FA 5,000




A 3E2SA
M 21 832 2109 uv-EF ¥
el BMIEN BESM AHA B M CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
o2& 100,000& » 30 A 3,000
OBl B(4XZE) 100,000& = 307K 3,000
OslE(8ZE) 200,000 = 204 4,000
O#EM3, FAX 223 2| 6,560
OEUHIERX 220,000& = 504 1,100
O22H tECX 300,000& = 504 1,500
OE2H EX 120,000& * 82 960
ONdE+=3D] 30,000& * 1002H 3,000
02 323l 1,877,517 1,824,797 52,720
OFESH EBAIAEH XL 4l
11,114,000& * 1228 133,368
OFEEH UERIANAE RXE=H
20,365,000& = 12& 244,380
OIPE 3t W EAIAE R X E=Hl
6,901,000& » 12& 82,812
OGAM3gAAE 22 =H|
968,000& = 12& 11,616
ORENHAZBSEX HXNE=H|
467,000& ~ 123 5,604
ogzaesll X2 424 6503 * 12& 5,096
ONSEAMNAE R LE=HI
667,000& = 12& 8,004
ORHETHEXNANLAE S =HI
352,000& = 12& 4,224
OEFASAAE R E=HI
2,940,000& = 123 35,280
OWA KA E=H 47,7803 = 7204 3,441
O3&20/1t0l RAIE=H|
1,000,000 * 700 A 7,000
OHICHH H&as| o AlAE
0,000& = 1009 = 12& 24,000
(OFSEcIRTR=, 233,892
QI Yl HB A 12,000,000& * 12& 144,000

30,000& = 1208l & = 12& 43,200

6,0008 * 5563l + 128 3,960
OMHMalE Ad&st

33,000& = 173/& » 128 6,732

OEXAH A S22 ME=
3,000,000 = 12& 36,000
OdE3H MER 1,078,800
Oo=uUdZ3d 103,680
-dstg 27,0003 = 3208l & = 12 103,680
O=Ild2s8sSeY 918,000

—-200M 1,500,000& = 43|&d + 128 72,000




A 3E2SA
Hm: 210 M= F Do -BE 7
Sl WHEH FBSH MHA Y M3 CERED
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
-30M 700,000& = 708l & = 12& 588,000
—4M 300,000& = 253l « 123 90,000
-2M 200,000& = 703l » 12& 168,000
OBdEdE2d
1,000,000& » 33/ & » 123 36,000
O™ At 2,2008 ~ 800=214 » 123 21,120
401 AIEHI L 2] 60,648 50,540 10,108
01 A& Hl 60,000 50,000 10,000
OAMA THHIXIN OHE FUSAMNEZIA(EH
N ENY 5,000,000& = 120H 4 60,000
03 Al 2 THHI 648 540 108
OFUHESMLEZ A 60,000,000& * 1.08% 648
405 RHoHF S HI 225,000 361,308 A 136,308
01 AL EZFH S 225,000 361,308 A 136,308
OZESH == UERKIAZH LA 135,500
OHMEARI (ZM2 3MHA)
30,000,000 = 3CH 90,000
OI3 2 EARIX(48Port, PoE)
6,500,000& * 7CH 45,500
O#H&E &3 (IPT) 600,000& = 60CH 36,000
O®AI|D| 600,000 * 10CH 6,000
Os4EHL HESAHAMAE &X 47,500
OezA9 X 30,000,000& * 1CH 30,000
OIS AR (48Port, PoE)
6,500,000& * 2CH 13,000
OUWEHI 22 FHI(VPN)
4,500,000& « 1CH 4,500
Helgt 3284 et =4 40,360 30,270 10,090
401 Al HIZ 201 I 40,360 30,270 10,090
01 A& HI 40,000 30,000 10,000
OCIS0IEAE 32400l A=A
30,000,000 = 10024 30,000
OLALUS0SAE SSA0II0I RS AY
5,000,000& * 242 10,000
03 Al S THHI 360 270 90
Oz320/It0I = ALY
40,000,000& = 0.9% 360
HA S3S2A0ITH0I & 2FALS 98,809 129,324 A 30,515
< 29,644
Al 69,165
201 LBH2EH| 98,809 129,324 A 30,515
= 29,644
Al 69,165
02 2322l 98,809 129,324 230,515




A 3E2SA
Hm: 210 M= F Do -BE 7
e AEFSY FESH NMHA 83 WS (&)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OHA 23240/I0l IXt 2EAMS(EX) 98,809
OHA ZTZA0IIMOl S22 (4140H)
98,809,000& 98,809
< 29,644
Al 69,165
HA 2320/TH0 2T 2= AR (KHAI) 28,486 0 28,486
201 Let2d] 28,486 0 28,486
02 =224l 28,486 0 28,486
OHA B332A0/TH0l LX2H A (XA 65CH)
28,486,000 28,486
OrSgsAI2E X XA 2,000,000 0 2,000,000
401 Al& Bl 28I 2,000,000 0 2,000,000
01 A& HI 2,000,000 0 2,000,000
OntSLSAAE AX 2,000,000
OOtSYSAIAE AX 2,000,000, 000& 2,000,000
SHA MHlA DMOEE AH 65,952 80,624 AN 14,672
dESH QAR =& 5,000 4,850 150
201 Let24d] 5,000 4,850 150
01 At 22/l 3,000 2,850 150
ONBSHAAN SHZY DF242
1,500,000& * 2= 3,000
02 3323l 2,000 2,000 0
OMEXTZ A EFFHl KAl 2,000,000& 2,000
POHHEIN(ER) HIYZR BE 60,952 75,774 A14,822
201 Le-2dH| 60,952 56,274 4,678
01 At 2t 2l 10,000 9,850 150
OEE AREFRY(HH S)
3,000,000& = 14 3,000
OEENEXZII=U= 3,500,000& » 29H 7,000
02 =224l 50,952 46,424 4,528
CEEE HUEH 600,000& =« 4CH 2,400
OEESSIL HIXNIAANAEH S 2e] 48,552
Ot EesZa HEXAANAE S/W
2,900,000& * 12& 34,800
Ot EeaZa HEXAANAE H/W
650,000& = 12& 7,800
OE2FH RANESH (=240, =23t0iet
3&5, HEPC2E) 496,000& = 12& 5,952
HH2IZH(FESA D) 52,962 60,306 ANT,344
Jl234l 52,962 60,306 NT,344
JI23l 52,962 60, 306 ANT,344
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- _ _ RE]

SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
201 gEt24y| 23,562 23,966 N404
01 AP 22| H| 23,562 23,966 AN404

OJlEgessdiasdY (JI=Z4l)
450,000 21 9,450
oZ2gdl (J1=&Hl|)
8,0008 * 219¥ » 7¢ 12& 14,112
202 o4 | 25,200 30,240 AN5,040
01 2L I 25,200 30,240 AN5,040
O=2LAHl(21=FHIl)
20,0008 * 21" » Hg 12 25,200
203 Y2 =&XH| 4,200 4,200 0
04 FEASHEYFFEH| 4,200 4,200 0
©J|=AH| (252! 0l5}) 350,000 12€ 4,200




